Q
Z ”
R
O =3
Z| 383
oZ| o a8
Wil S<=
— L_I,j"gw"ﬂg
O '2I§6
Z| =588
| v o28
88
<{| £
22| X9y
O| go
v -~z
-
<
g
=
A,
A,
—
P,
2
=
7P
U2
—
=

RIVERWIND DRIVE

PEARL,

COURTYARD MARRIOT

SHEET TITLE

STEEL CONNECTION
DETAILS

PROJECT:
DRAWN: JSP

DATE 07 /26 /11
SHEET NO.

S1.4

TOTALSHEETS: 4 OF 10

09,/18 /11

USE STANDARD : WELD 3/8" PL TOP OF 12 SCREWS ['~18GA 8" STRAP AT EVERY
AISC_CONNECTIONS COLUMN 1 [~ “CONCRETE DECK | |
SUPPORTING @ TYPICAL \_ ENLARGED . 4" WIDE 54 MIL STRAPS 1]
GIRDER SECTIOPN AA BOTH STRAPS CAN BE
BEAM SEE PLAN —\ Q . < N ON ONE SIDE or ONE
BEAM SEE PLAN \ 6" MIN ON EACH SIDE
— | 3/32
USE STANDARD —— T [ TYP
[ COLUMN 600S200-68x30
AISC CONNECTIONS —
AV L [ L / SEE PLAN ﬁ L TOP PARAPET TRACK
—_——— === |l ——#12 SCREW
SECTION — CC
L3"x3"x3/8" |
WITH 1/4" THICK L |
- GUSSET PLATE (2|
NOTE: ALL WELDS 5/16” PARAPET WALL,4003200-68x50 ST
OR 1/16" LESS THAN MIN. BOTTOM PARAPET TRACK
SAME DETAIL APPLIES WHERE ONLY THICKNESS OF PLATES TO SR A T A—
ONE BEAM IS SUPPORTED BY THE GIRDER. BE WELDED SECTION —DD |
USE SAME DETAIL IF COLUMN EXTENDS ABOVE THIS FLOOR
NOTE: STUD NOTE OFAPPLIES TYP. X—BRACING DETAIL
NOTE: STUD NOTE OFAPPLIES ' NTS
BEAMS SUPPORTED BY GIRDER COLUMN SUPPORT FOR MULTIPLE BEAMS BEMTS TG WACL
l et
T TOP/BOTTOM TRACKS
W NTS w NTS E OF 4TH FLOOR —3—
| XEXTERIEIR WALL
r
TYPICAL STEEL STUDS TOP OF ALL BEAMS. coL | +—+——+i: // Plates N __ -
REFER TO SECTION TITLED y " -1 ‘ ‘ T :
 COMPOSITE. FLOOR DECK AND ROOF DECKE (4)-3/4"9 \_— 7 EXTERIOR WALL PANEL|[[EXTERIOR WALL PANEL
IN GENERAL NOTES, H.S. BOLTS SECTION —AA PARAPET PROFILE
EEEEDE¥21TLSSTUDS ARE NOT SHOWN IN | 3/4" BASEPLATE L——— ==c—o _.)\HSS 1OxBx3/8 NTS
| e / HSS 10xBx3/ SEE ARCH, FOR DETAILS
\ O . \
‘X( 1% I l TAPERED
JERI == I e L)
600S200-68x50 4
VIEW AA I ™ Te —Jc TRACK TOP PARAPET TRACK ——
FINISH FLOOR I //_\ / F.F.E. OF TOP OF PARAPET
ELEVATION(F.F.E.) ' \iiliZ
ot P ' GIRDER—G1—W10x26 i PARAPET WALL
BEAM SEE PLAN — | ——Ft—F— [ A | L 4005200-33x30 TYP.
% ~ @Z“ = ’ STD. AISC 8 A A —] 2 oc
3/8" STIFFENERS —fs—e | _| SHEAR E = =3 \
| I
ON BOTH SIDES z\ . < CONNECTION HSS 10x8x3/8 ol b B CUT & BEND WEB. ATTACH
- ——— -\ TCUr—+ F.F.E. OF ROOF H— L~ VITH 4—#12 SCREWS. WELD
el | e SR, sn/ﬁ/ FLANGE TO VERT, STUD.
| % 5|
NOTE: ALL WELDS 5/16" 3/4"Bottom ' EXTERIOR WALL S [T |
OR 1/16" LESS THAJ MIN.A']_ - A PlTes b 5/16 \ / 0
THICKNESS OF PLATES TO x\_uss \
BE WELDED COLUMN 6x6x3/8 = ~ W, ~ —;
SEE PLAN USE 3/4”8 H.S. BOLTS FOR CONNECTIONS - - a1 _FLOOR LQAD
BEAM CONTINUOUS OVER SUPPORT CANOPY FRAMING CONNECTION \ o VERT DuBeE STUB,
L4 NTS NTS — ; o
HH 4—600S200—-68x50._ WELD TOGETHER &
s _LG_ OP & BOTTOM TRACKS
g SECTION -GG 6 |
TOP/W8x18 =m
12'—4.5" - l NTS
CUR-2 <
GIRDER 5 O
E NS> '
................... e e < SECTION BB ENLARGED
w0 o
STANDARD | i 5 /
A = < |
AISC — _ FL3 DECK = 1/4 — o I a
CONNECTION V:;y!ﬂﬁ Si7) PARAPET DETAIL .
| NTS 11
1 o |
. _| ! 3/8" pl
| | “;.‘-) | J—K
| 1 | |
' | 1/4V | (6)—HILTI— %x3.5"
A | USE STANDARD HIT—HY 150 HIT
A LI A CONNECTIONS ADHESIVE ANCHORS.
< SEE SHOP & |
GIRDER - @ DWG'S. FOR PLACEMENT. T
= — M 02 " _XNT
o
1 N 7\ CURVED BEAM SUPPORT TOP /WD NAILER 400S200x43—33 7 [ iy
LI = 268 | =
A e =R o, NTS , = 2 ]
14/ Y% . 8 |V~ 0
NTS I R ' 3 -
CMU_ WAL
5/167 NOTE: ’ 4005200x43—33 T | §
157e (1) SHOP WELD 3— PL 2x3/8 TO VERTICAL COLUMN | | N T 1 ——
- | TO RECEIVE IN FIELD CURVED BEAM HSS 6x4x3/8 & -~ oMU WALL ! id
\ | HSS 4x2x1/4 | PLAN VIEW
; |G I (2) FIELD WELD HSS 6x4x3/8 & HSS 4x2x1/4 TO | | 4 | + 4" MINY
— 1 i’ == PL 2x3/8. | N ]
I T (3) FIELD WELD LAST PL 2x3/8 TO COLUMN AND HSS - = —— ——— S8 STATIC| VENT W/
] 7 2 [ [ —— e . WEATHER CAP A
— 1’ = SECTIONS ATHE :
| ; / ! | 9 10 X1O | | 1/2u
I Al 400S200x68—50 ’ 4 '
\| bz | / _ _ 4005200x68—50 /_ PLATE
L/_)L DESIGN UPLIFT= 500 LBS/FT | 2-60052Q0x23-33 1" Lorlg Boot | l
- PL 2"x3/8" DESIGN SHEAR=250 LBS/FT. , 600S200x68—5 J 0 0
Al A DOUBCE. STUDPACK (TYP) ’ DESIGN UPLIfT= 500 LBS/FT STEEI—/ CMU DETAIL 9@ %XEL
SECTION 2n | DESIGN SHEAR=500 LBS/FT. NTS / |
TRIPLE STUDPACK — ~ FFE (FINISH FLOOR ELEVATION " - 1 N NS s 10
SECTION AA | N — | ( ) 3/47 HOLES TO 0 PO P a1 S 17 Y S 107 1 P —
_— ACCOMMODATE
[ INSERTION OF #5
REBARS SECTION VIEW
HSS 4x2x1/4
- |
Nu L
- LR A A ¥ B e s d S L INRET STEEL/CMU DETAIL
. @ CORNER
LY FRAMING SECTION /\ PARAPET DETAIL
i 314 (10 NTS 7]
NTS  STUDPACK TO BE 600S200-97 LONG COLUMNS C3 CONNECTION NTS S19) T
//
NERNE
A B c| Io E F G H I J K L N N P




	Created with MetaPrint
	S14.pdf

